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U@ - I/ PART - I

15x1=15

(ii) Gsr@ssuul(herer wrHm alenLgefled WEeab ghen_w ellenLeauisg

Cambos(hssis GOUILHLer e ulemarb Caigg e(pseb.

Note : (1)

Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives

and write the option code and the corresponding answer.
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1. 2 miliLgemeT Qans@paln@ CeualCu @) MHHg ieamispiqu|b.
(=1) Secured o mLiL|&6T (<4,) Public o miiser
(@) Private o miliL|seT (FF) Protected 2 mliL|&eT
members are accessible from outside the class.
(a) Secured members (b) Public members
(c) Private members (d) Protected members

2. Gemeumeiameunmled 67 eSS Ten HpLiF CFmed SHepLwing ?

(1) continue (<y,) break (@) operator (rF) while
Which of the following is not a keyword in Python ?
(a) continue (b) break (c) operator (d) while

3. @ GHUALL Qeweed Qslleugnasrs LweaTUhSSLILIHDL @Golpamuler Fmlw

UGS :

(=1) Pseudo @Mlpenm (<=, slenewt [BlTedseT

(@) Csm@daer (/r) Camlyser

The small sections of code that are used to perform a particular task is called :
(a) Pseudo code (b) Subroutines

(c) Modules (d) Files

4. ougsreaied (psFluwrer s(Hrurl(h AepwliLsailer cramamilsams

(=1) S (=) 3 (&) 6 (/) 4
The number of important control structures in Python :
(&) S (b) 3 (c) 6 (d) 4

5. Qas@w emuLser Cewp@dlufer eped ansliLi(hdHng.
(1) # (<) & (&) % ()
Class members are accessed through operator.
(a) # (b) & (c) % (d)

6. QuOCGori Gwhas 2 najblaaamuds GHUGGH0 sreysser wrdlfl :
(<) vy fleve (<) 2-pejfleve
(@) Qummer (FF) euemeWenLoLiLy
The database Model which represents the Parent-Child relationship :
(a) Hierarchical (b) Relational
(c) Object (d) Network



10.

11.

3

FISBIGNET Qenanss 6Thg CFun@Gn Lwemhdng ?
(1) * (<) + (&) = (/) &

The operator which is used for concatenation ?

(a) * (b) + (c) = (d) &
eugsTer Blyedler C++ By FmHelsse eTe AMLPESHILIHSIMG.
(=) Qavenrgge () 2-om QO

(@) 9fsse () udlaiipssd Celiso

Importing C++ program in a Python program is called

(a) Interconnecting (b) Wrapping

(c) Parsing (d) Downloading

6672

sLLeneT sra|sarsHadl(mhgl e il Leumaranw Bésl LweaLhEng).

(<) DELETE ALL (<=y,) DROP TABLE
(@) ALTER TABLE () DELETE
command is used to remove a table from the database.
(a) DELETE ALL (b) DROP TABLE
(c) ALTER TABLE (d) DELETE

bg Qewngan Csmbeshssiiul L Leogdler (uflu wdlliemus SHmik el :

(<) HIGH () (<) MAX () (@) MAXIMUM() (%) LARGE()
The function that returns the largest value of the selected column is :

(a) HIGH () (b) MAX() (c) MAXIMUM() (d) LARGE()
2 (Heualil] SOWLILLL ST6y eUms eTem SMPESHLILHEH DS
(1) Concrete datatype (<) Built-in datatype

(@) Abstract datatype (fr) Derived datatype

The datatype whose representation is known are called :

(a) Concrete datatype (b) Built-in datatype

(c) Abstract datatype (d) Derived datatype
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12. serenarssTGar enpsgisblameTerd CFunanm

(1) embLm (=) 2 drefleanentbg
(&) return sapm) () shapHé

A Function which calls itself, is called as :

(a) Lambda (b) Built-in

(c) Return statement (d) Recursion

13. 2 (pauliuL b Seoeg Quiigblae GCsriy Guramm 2 oy Sjders Cariysamer
MSWITGT LiweTU(hLD (Lpenm :

(1) xls (<) ey (@) csv (M) @wflos
The mode which is used when dealing with non-text files like image or exe files :

(a) xls mode (b) Text mode (c) csv mode (d) Binary mode

14. Qumi@ Hrorsssde, gnsarGe samssdh CQglg wHlysmer GCallEn s
TG AMLP&GSLILI(HID.

(=) Hlenarell(mgse (=) wllamu Cals@LD Liew

(@) uLLblev (rF) wdlliewu CeafgH@n LiewT

In dynamic programming, the technique of storing the previously calculated values
is called :

(a) Memoization (b) Saving value property

(c) Mapping (d) Storing value property

15. set A={3, 6, 9}, set B={1, 3, 9} craflep,
Gesreuqmd Hledlenr Geuaflui(® Print (set A|set B) :
(1) {1} (=)13,6,9,1,3,9

(&) {1,3,6,9 (/) {3, 9

Let set A={3, 6, 9}, set B={1, 3, 9}.

The result of the following snippet Print (set A|set B)
(a) {1} b) {3,6,9,1, 3,9}
() {L,3,6,9 d {3,9
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U@ - II / PART - II
GO : eTemauCuiegnd m NamésErsE el wealdsa|b. efamm oear 24 -&S
SL_L_muwnsg allenL_well&Esalb. 6x2=12
Note : Answer any six questions Question No. 24 is compulsory.
16. Tuple aTaMMeL 6TeTan ? T(HSHIGSTL(H H(HS.

What is a Tuple ? Give an example.

17. aue@rOWeme TaTmTed 6Teres ?

What is a scope ?

18. aussnafled FFHms eTeuelmn HoHEGeumis ?

How will you delete a string in Python ?

19. range() Qewpanm GO cuemrs.

Write note on range () in loop.

20. Q&G CTETDTED GTEITGT ?

What is class ?

21. 376y MSWTEHSE GOMPl eTammmed cTerTe ?

What is Data Manipulation Language ?

22. Gariber QarLmblane (pepmepnseners @GDILIk(s.
Mention the default modes of the File.

23. srey ST SLL(NSGISO auansewll UL iq el (Hs.

List the general types of data visualization.

24. Gereumbd evugsrean GHliperpuder Geuafui(h wrg ?
Squares = [x**2 for x in range(1,11)]
print (squares)
What will be output of the following Python code ?
Squares=[x**2 for x in range(1,11)]

rint (squares .
P (sq ) [ Hmluys / Turn over



6672 6

U@ - III / PART - III
@MY : gCaenib ym elaésEns@ elaweflldseyb. efer erewr 33 -&@ SL_L_MWLD
e wiefl&se L. 6x3=18

Note : Answer any six questions. Question No. 33 is compulsory.

25. QL (pasdler LT smmsamens &mlLG0Hs.

Mention the characteristics of Interface.

26. Quiki@ Hlrorsssamslt Lpm BelT odeuer wrene ?
What do you understand by Dynamic Programming ?

27. pww dewun@danw TOHSSHEETL(HLGET 6T(LHS)Is.

Explain Ternary operator with an example.

28. while L &dlen Qunglalgeussleaner eT(LPGIs.
Write the syntax of while loop.

29. ceil () womid floor () QwdH smmsamer Coumu(HSSS.

Differentiate - ceil () and floor () function.

30. csv reader () wmmib Dict Reader () aulfdlpern&@hsE @ en-Guwirer Geumuim(
wngl ?

What is the difference between csv reader () method and DictReader () class ?

31. fetchone () woHmibd fetchmany () Coumuhs5i5.
Differentiate fetchone () and fetchmany ().

32. Oar(hssuUl L allgeusms AFHHLD usSsTen Hlrane 6T(Lpgis.
Write a Python program to display the given pattern.
COMPUTER
COMPUTE
COMPUT
COMPU
COMP
COM
CcO

C
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33. umdey sLUUrL(® sapmsamer CQasrear. C++ Blrosamer QUIGEGWL LSS e
Blreosaier LigblanegEemer 6r(Lps)s.

Write about the steps of Python program executing C++ program using control

statement.
U@3! - IV / PART - IV
SO : Semensg elamss@nsEh el waldsa. 5x5=25
Note : Answer All the questions.

34. (=) List eremmmed ereer ? List, ereim pairs eremm enp&sLLBEng ? T(HS5FI8-
sT_(HLer elleuflésa,b.
S|6V60 )
(=) auflengpenm CoLed (panpenw afleurdlEse]ib.

(a) What is a List ? Why List, can be called as pairs ? Explain with suitable
example.

OR

(b) Discuss about linear search algorithm.

35. (=) ewussraied 2 6rer allebenaseT DM 6T(Lps)s.

S|6V6EVF)
(=) Yemeumd o emaflenanthg Cawm FmmiseneT clemd@s.
(1) id()
(1) chr()

(ii1) round()
(iv) type()
(v)  pow()

(a) Discuss in details about Token in Python.

OR
(b) Explain the following built-in function.
(1) id()
(i1)) chr()

(iii) round()
(iv) type()
(v) pow()

[ Hmluys / Turn over



6672 8

36.

37.

38.

(=) Yenraevmesr Tuple eTaTMTEL GTET ? T(HSSHEHTL(HL6T 6l6TEHE5.
S|VEVG)
(<) 2 mey Hlevaovullen cuanageaner elleui&se, L.

(a) What is Nested Tuple ? Explain with an example.
OR
(b) Explain the different types of relationship mapping.

(=) getopt() erarm CFwphamder Qsrfwene er(pdl, SiFem ClFLIIHLFHMETULD,
SmUGweniilb wdlysamerd ellers@s.
S|6060F)
(<y,) DBMS wpmitb RDBMS GCaumu(hsgis.
(a) Write the syntax for getopt() and explain its arguments and return values.
OR
(b) Differentiate DBMS and RDBMS.

(=) adlevGLrdlpmbd wHmIb Ll eumFULEISEHsE Qe Guiwimer Ceumiuimh -
S6T 66T G 5.

S|6060F)
(<) continue sapmlenen T(HSHSSTL(HL 6T 6NeTEHEs.
(a) Explain about differences between Histogram and Bar Graph.

OR

(b) Explain ‘continue’ statement with an example.
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